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Fifth Se mester B.E./B.Tec h. Degree E xaminati'o n, D ec.2024 I J an.2025
!ndustrial Management and Entrepreneurship

'[inrc: J hrs. Max. Marks: 100

Note: l. Answer any FIVE full questions, choosiag OIVE full question from each module.
2. M : Marks , L: Bloom's level , C: Course oulcomes.

Module - I
I a. Deflne Management. Describe its key functions.

i b. Explain the modcrn management approaches.

OR
coli a.2 | a. Explain the steps involved in the decision * making process
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r type organizational structure. L I ] Illi.lir
b. Explain how each stage of staffing process contributes to the overall ll0 i L2 CO2

ct'fcctivencss of staffing. 
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I i cf-fcctiveness of staffing i i

-lillon
Q.4 a. Explain the rolc ol-communrcation in achicvingedt..t,u. coordination

lt

I b. E.xplain the various monitoring techniques used in a sound controlling

Module - 3

Describe the qualities of an Entrepreneur. co2
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Explarn the various stages of Entrepreneurship processes rz lcoz
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What are the barriers of Entrepreneurship?

r-M-]-:- -ilrr-* *^.ri O.z a. What are the characteristics of Small Scale Industries'7tt
i-@ctofLiberalization,PrivatizationandGlobalization

Small Scale Industries (SSI's)

OR
Compare Ccneral Agrecment on Tralfs and Tradc (GATT) wirh
'l'rade Organizatictn (W1'O.) in lnternational trade,
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Difl'erentrate between Entrepreneur and lntrapreneur

i co3
I

i

I C()3
i
i

Module - 4

Q.8

I ol2

c()3



.

BMEiBSA/BMT/BAC5() I

b. What are the steps involved in starting a Small Scale Industries? 10 t.1 co3

Module - 5

Q.e a. Explain the role of Dibtrict Industries Centres (DIC's). l0 L2 co3

b. Write about NSIC (National Small Industries Coporation). 10 1.2 co3

OR

Q.10 a, Write about Project Formulation Process. l0 L2 co3

b. i Write about selection of project. t0 L2 co3
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